50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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i) Size of base pla% 00mm 750;;1%

Eighth Semester B.E. Degree Exammatlon, Dec.2019/Jan.2020
Design and Drawing of Ste‘el Structures

" Max. Marks:100

Note: 1. Answer any ONE full question; each from PART-AJnd PART-B.
2. Use of 1S800:2007 andwsteel table are permttted

&
L 4

Two secondary beams ISMB400@ 61. 6kg/m are connected to main beam ISMB500@

86.9kg/m. Angles used are‘ISA 100 x 100 x 8mm. 5 bolts of 20mm diameter are used to
connect the angles to the web of ISMB400. Ten bglts of 20mm diameter are used (five on
each side) to connect the angles and web of ISMB- ‘O./Top of flanges of the beams are at the
same level.
Draw to a suitable seale: &
i) Elevation’ of secondary beams and croﬁs(sectlon of main beam connection.

ii) Elevatlon of main beam and cross! section of secondary beam connection. (15 Marks)
A beam ASM B500 @ 0.869kN/m is connected to the flange of column ISHB250@

0. 51kN/m by ‘stiffened seated welded connectlon D1mens1ons of sear plate is 80mm w1de

150mm long is connectecf by 6mm size fillet wel
suitable scale ‘

Q

( t : i) Plan of column
F ollowmg are the details of: gusseted base: é
i SWB400 at a spacmg of 325mm between webs

ii) Typical elevation (15 Marks)

Thickness'of gusset plate:, Ime

vi) 16 bolts of 20mm diaméte 'connect gusset angles to gusset plate. 16 bolts of 20mm
diameter connect gusset angles to the column.

vii)  Anchor bolts 20mnt'diameter 4 numbers.

Draw to a suitable scalg~

i) Elevation showmg ange of column

ii) Sectional

(15 Marks)
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PART - B

3 Design a roof truss shown in Flg Q.3 with forces in each mqﬁ r along with its nature. Also
design end with gusset plate using black both of prope y %lass 4.6. Also design the supports
consisting of shoe angle and bearing plate by consid é%su port reaction of 150kN. Anchor
both are subjected to an uplift of 15kN at each supp W?420 concrete is used at the supports.
Draw to a suitable scale:
i) Elevation of truss greater than half span:
ii)  Enlarged view of apex joint of the trustm% 2

iii)  Enlarged view of the left support A% .

v@f

(70 Marks)

Weight of crane excluding erab = 200kN

iii) Weight of crab = 60kN @‘
iv) eel

V) p

vi)  Wheel base = 3,4m

vii) Span of gantgy girder = 7m

viii) Mass ofirai P@ectlon 30kg/m g M%
ix) Height 6frail section = 75mmy, PN
Take f, = 25@N/mm and E = 2)( 10°N/mm> ﬁ@f:im
Draw t&&smtable scale - '
i) %”Zg 8§ section of ga
ii) n details

Aii) 4 Elevatlon
yl%ﬂ

XY (70 Marks)

20f2



